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2x + 3y = 5


4x – y = 17





How do you find the solution to a system of linear equations?
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Coinciding lines have an ____________________________ (all the points on the line are solutions of the system)


 


(x,y)|y=mx+b}





Intersecting 


lines have exactly ����__________________ which is the point of intersection 





(x, y)
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What if both of the variables cancel out?  Look at the resulting arithmetic equation.


*False statement indicates the lines are parallel so there is no solution.


*True statement indicates the lines coincide so there are infinite solutions.





Parallel lines have __________________ because there is no point of intersection








